ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

................................................

ABM International, Inc.

Autopilot Assembly Manual

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 1
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

1.0: Parts List

Computer (Qty. 1)

Screen mount (Qty. 1)

Control Box (Qty. 1)

w o FEHGEE o

Isolation transformer (Qty. 1)

Touch screen beam (Qty. 1)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 2
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

T

T

X-axis Servo Motor (Qty. 1)

i
©

Y-axis Servo Motor (Qty. 1)

=)
©

Servo motor encoder cable (Qty. 1)

Servo motor power cable (Qyt. 1)

Sll= o

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 3
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Computer power cord (Qty. 1)

PC to Autopilot communication cable — USB to RJTlty. 1)

(1

Pushbutton station (Qty. 1)

Innova communication cable with terminal block (Qty

O
G@

OO OTD
LRIV R O PR R )

(@)

T
bivy

/

-~

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Motor Plate (Qty. 2)

X-axis t-slotted beam (Qty. 1)

25

X-axis quick disconnect clamp (Qty. 2)

15.000

Y-axis quick disconnect clamp (Qty. 1)

X-axis timing belt clamp plate (Qty. 2)

(&) (@)

Y-axis timing belt clamp plate (Qty. 1)

(M =
1

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Carriage support cross block and plate (Qty. 1)

o
O O [ o
X-axis drive shaft (Qty. 1)

Large drive pulley (Qty. 1)

Medium drive pulley (Qty. 2)

Y-axis drive pulley assembly (Qty. 1)

Y-axis idler pulley assembly (Qty. 1)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

X-axis drive bearing assembly (Qty. 2)

X-axis idler bearing assembly with guard (Qty. 2)

- | °

O

Y-axis motor guard (Qty. 1)

X-axis motor guard (Qty. 1)

Transformer bracket (Qty. 2)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 7
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Control box shelf (Qty. 1)

X-axis timing belt (Qty. 2)

Y-axis timing belt (Qty. 1)

X and Y-axis main timing belt (Qty. 2)

3/16 x 3/16 machine key (Qty. 3)

Twist lock cable tie holder (Qty. 2)

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 8
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

2.0 X-axis Assembly

NOTE: The Autopilot assembly manual demonstrates @w to install an Autopilot on a 26” Innova. Assemly
of an Autopilot on an 18” or 22” Innova will differ slightly in some steps. See Section 6.0 for amemehts to
installation of an Autopilot for 18" machines.

Step 1: Install motor plate onto 15" t-slotted beasing (2) 5/16 x %" HEX bolts, (2) flat washerglg®) 5/16 T-
nuts. Locate the plate in the center of the beam.

3

o= =i O o
=) ﬂﬂ:ﬂ —_ &

Step 2: Install the X-axis servo motor onto theong@late using (4) 8-32 x %2” socket head cap scrdnstall the
motor so the wires are positioned facing down tiie picture above.

Step 3: Install the 15” X-axis t-slotted beam otfie right side of the frame in the third hole frime rear of the
machine. Use (2) 5/16 x 2" HEX bolts, (2) flat Wwess and (2) 5/16 T-nuts.

—
[+

o
[—r—
[=]
[t oo v+ fooervoooforsoos T 1 ]
o

I RN O O

[H
|]=|g.”.|...°° s

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 9
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 4: SEE SECTION 6.0 FOR 18” MACHINES. Assemble (2) X-axis drive bearings assemblies {@jh
medium drive pulleys and (1) large drive pulleyaké sure to place a key into the slot of the dloaftach of the
pulleys. Leave the pulleys and bearing assemhadase on the shafbO NOT TIGHTEN THE SET SCREWS.

s _J

Step 5: SEE SECTION 6.0 FOR 18” MACHINES. Install the X-axis drive shaft assembly onto tlghtiside of
the frame. Attach the bearing assemblies at'tran8l 18 hole, from the back of the top side tube. Bait th
bearing assemblies using (2) 5/16 x 2" HEX boltd ) flat washers in thé"sand 18 hole from the bottom up.
Additionally, use (2) 5/16 x 2-1/2” HEX bolts, (#at washers and (2) nylon insert lock nuts to sedhe slotted
angle brackets to the tube in tHeahd 17 hole. NOTE: Install the 2-1/2” bolts with the heafcthe bolt on the top
side of the frame and the nut on the bottom side.

T

o

=P { : 1
k]
M 4 o |
- = a
------- - e . = a o|la 6 » ala o a e|a o b-la & o
M [
£l z_
i ﬂ v
+
M o
: ]
: [
-
+] ]
El
. &
==} 3

R I R R O " R B I R D_/_P"J

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

10



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 6:SEE SECTION 6.0 FOR 18" MACHINES. Install the (2) X-axis idler bearing assembliefiwguards into
the 8" and 16 hole from the rear of the left side of the frantése (2) 5/16 x 2" HEX bolts and (2) flat washers.
Additionally, use (2) 5/16 x 2-1/2” HEX bolts, (#at washers and (2) nylon insert lock nuts to sedhe slotted
angle brackets to the tube in tHeahd 17 hole. NOTE: Install the 2-1/2” bolts with the heafcthe bolt on the top
side of the frame and the nut on the bottom side.

10
| B

[

DUUQQO|OU UOOODUDOO'OQ

E E

a2 afe o ag

o

.............................

b ooaooo000O0©© o000 adco == ==

/60&10(5(5(5(50@0

Step 7: Using (4) 5/16 x 2-3/4” HEX bolts, (4) flabshers and (4) nylon insert lock nuts, instadl Xaaxis quick
disconnect clamp brackets onto the left side ofdhwer carriage. Install the brackets so that #tetrandled clamp
is aligned with the center of the idler pulleystbe left side of the machine.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 11
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 8: Install the X-axis timing belt clamp otfte X-axis quick disconnect clamidOTE: INSTALL THE
CLAMP PLATE SO THAT THE SIDE WITH THE SMALL SLOT IS FACING UP. Lift the red handle and
check to make sure the clamp grips the plate adgdimbly. If the plate is loose, use a 7/16 wrhrto tighten the
hex nut on the bottom end of the clanipO NOT OVERTIGHTEN OR THE CLAMP WILL BEND WHEN
YOU ATTEMPT TO LOCK THE PLATE IN PLACE

—

s an

Step 9: Lay the white X-axis timing belts on thanfie table with the teeth facing up. On the rgjtié of the frame,
pass the timing belt around the medium drive palkayd secure to the belt clamp plates on the garfDTE:

THE BELT WILL PASS UNDER THE CARRIAGE AND CONNECT T O THE CLAMP PLATES

MOUNTED ON THE LEFT SIDE OF CARRIAGE. Pass the left end of timing belt around the ididigy
assemblies and attach to the timing belt clamtepléghten the timing belt clamp plate bolts ahdak to make
sure that both timing belt clamp plates are eqtadisfrom the left end. Jump the belt over thégyubn the drive
end to align the clamp plates.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

12



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 10: Tighten the belts by loosening the (2B FHEX head bolts on the slotted idler bearinggdand pulling
the plates out away from the frame.

TENSION THE BELT

ON THIS EN [[
. |
ol A ;
|E.> "B =) IS e

vvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv

——
o]

P e v s [ |
=

Step 11: Loosen the X-axis motor plate and slidentiotor as high as possible on the slotted beastall the black
X-axis main timing belt onto the motor pulley adlves the large drive pulley. Slide the large pylbn the shaft to
align the large pulley and motor pulley. Tightle set screws on the large pulley. Pull down emtiotor plate to
tension the black belt and tighten the (2) HEX $ol the motor plateNOTE: THE BELT SHOULD BE
TIGHTENED SO THAT RESISTANCE IS FELT WHEN YOU PRESS ON THE UNSUPPORTED
SECTION OF THE BELT.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

13



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 12: Align the medium drive pulleys so the wtdtaxis timing belt is straight down the lengthtioé frame.

Ensure that all of the drive pulleys have keyshim keyways and tighten all (8) set screws, (4hemtedium drive
pulleys and (4) on the bearing assemblies.

TIGHTEN ALL <8
SET SCREWS

L I

Step 13: Install the X-axis motor guard onto tigatrside of the frame. The slots in the top @ ¢uard will align
with the tapped holes in the t-slotted beams obtsring assemblies. Use (2) 5/16 x %" HEX boR¥)dck
washers, and (2) flat washers to secure the guard.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

14



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 14: If the X-axis idler pulleys did not comighathe guards installed, install the guards ohtodssemblies
using (4) ¥ button head bolts and (4) flat washers

HNETALL IDLER
GUARDE HERE

|
[ :

PR [ s |
=

Els

oooooooooooooooooooooooooooo

Freiovivoovrovo o ovovs]

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 15
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

3.0 Y-Axis assembly

Step 1: In order to complete the installation @f ¥raxis assembly onto an Innova, the front 6’otteld beam of the
lower carriage must be located at the extreme fobttie carriage. If the front beam is not in thasition, please
relocate it now.

Remove both hex head bolts on the either sidesot#inriage that hold the front t-slotted beam @mdave the
beam. Install (2) 5/16 t-nuts in the top of tharbe (1) 5/16 t-nut in the front face of the beard &) 5/16 t-nuts in
the bottom of the beam. Re-install the beam irfitsehole at the front of the carriage. Insthk carriage support
cross block into the front end of the left carriagié and pass the original bolt holding the t#&dtbeam through it
and secure. Using a 5/16 x ¥ hex head bolt atdvésher attach the cross block plate to the few# of the t-
slotted beam. Make sure to tighten both sideh®ft t-slotted beam to either lower carriage rail.

K T O = =« = = R O R = = R D" TR < IR = T = N B TS« BN+ B = T = I <)

LT T T T N N TN N N« N SO S S S N« R B S S
[ T L T

“ |

ODDlDlOOGDDOOOODDOOODDOOOODDlO|I:ﬂ

R

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 16
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 2: Install the Y-axis drive pulley assemlblyawer side of the front t-slotted beam using%/2)6 x %" hex
head bolts and flat washers. Adjust the assentblijeslarge diameter pulley is flush to outsidéhef lower
carriage right rail. Tighten the bolts.

1 1

LI I D I - D~ R N - - T~ B~ N~ N = N < = R = = R~ < R = R = R - R ” R <

_‘-’/'10 a £ 9 o ¢ 49 £ 0 @ £ 4 e & o0 e 494 2 & 0 e 494 @ & 0 @ O

4AKE FULLEY OUTSIDE
DIAMETER, FLUSH TO RIGHT SIDE OF
CARRIAGE 2

I

jeal
o

|D «o0 o9 a9 9 9 o 9 a9 e & o0 e 44 @ & 0 @ Q D|0|D LI ]

L3 %

Step 3: Install the Y-axis servo motor onto the@angplate using (4) 8-32 x ¥2” socket head cap ssrelnstall the
motor plate onto the top side of the front t-sldtbeam using (2) 5/16 x %" hex head bolts andvwtehers.

1

o o o

I I

o
o
o a
¥
oooooonnooooooooonnoooooooo|
a
o

g

0|ﬂﬂUUDDDDOOOOGUUDDDDDOO|O

LI R )

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 17
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 4: Install the black Y-axis main timing battto the motor pulley and large drive pulley. Tienghe belt by
loosening the motor plate screws and pulling théomaway from the large pulley. Tighten the b&lSTE: THE
BELT SHOULD BE TIGHTENED SO THAT RESISTANCE IS FELT WHEN YOU PRESS ON THE
UNSUPPORTED SECTION OF THE BELT.

a

[=}
-SR-S T - S S - - S - ST - T S S S T N T T - A
12}

////)’////4/////3

=i |
=)

ia
DoooooDDDoooooDDDooooDDoooo|

[ T L T
=]
&l

Step 5: Install the Y-axis idler pulley onto tmsitle of the right carriage rail at th& Sole from the rear using (2)
5/16 x 2-3/4” hex head bolt, (4) flat washers a?ynfylon insert lock nuts.

o a o o o fn ] —|o o o o =] o a o o o o a a o o o o =] =]
@ i @

o

IH] o
Lo o o v -~ R v |

I | I

o

Step 6: Install the Y-axis quick disconnect clampoaight front wheel beam of the Innova using§232 x ¥2”
socket head bolts and (2) 8-32 t-nuts. See trgratiabelow for correct orientation.

/

CoP Y

|[ ] CH O]
[
| | =3~ T - T T T - T - S - T S~ B -~ S - - - T - T~

%

E

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

18



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 7: Install the Y-axis timing belt clamp platgo the quick disconnect clamp. Be sure to ¥olibe orientation
in the diagram below.

iy |
& é\
. 7
e

(=2 - N - R S~ ~ TN - N ~ N~ I - SN =T = NN = S = NN~ - S~ B~ S = N~ N~ - S ~ N - B - S -}

# %

Step 8: Install the white Y-axis timing belt onib@ front medium drive pulley and the rear idleligyu Install the
open ends of the belt onto the clamp plate andeigfirmly. .NOTE: THE CLAMP PLATE MUST BE
INSTALLED ON THE LEFT SIDE OF THE WHITE TIMING BELT LOOP. TO CHECK FOR PROPER
INSTALLATION, THE INNOVA SHOULD MOVE TOWARD THE FRO NT WHEN THE LARGE
PULLEY IS TURNED COUNTER-CLOCKWISE WHEN VIEWED FACI NG FROM THE TOP LOOKING

T
J
— |

|'D|DD'E|D'DDDﬂ'DDDDﬂ'DDEﬂ'DDDDi'DDDﬂ

3 %

1|

@ [=)
° a

— |
|onuﬂoonnuonunuonnuonnu
— ]

oo oa

o

O N — O]

© b o044 o o bOD 4ada o b 0o o 4ad o boooa o

4 o o o a

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 19
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 9: Tighten the white belt by pulling the idbedley assembly toward the rear of the carriagktagitening the
(2) hex head bolts.

Step 10: Install the Y-axis motor guard onto ttomf of the lower carriage.

|
1|
N
C =l
° jij O

ﬁ Q £ 49 L o4 L L L oL R oL oL L0 L o4O HLoa Lo4a s Ln kos o

= % R

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 20
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

4.0 Wiring

Step 1: Loosen, but do not remove, the (8) scewihie top motor cover and the (7) screws on theekectronics
cover of the Innova. Remove the top motor andceger and set aside. Take care not to scratcbowess.

/TEIP MOTOR COVER

EECN ) o

\ W/
=

EaR ELECTRONICS COVER

Step 2: Locate the Innova communication cabletarrdinal block. If double-sided tape is appliedre terminal
block, remove the backing and attach the blocképosition noted below. When attaching the teairatock to
the machine, be sure that the communication calia the left side of the block and the unusederdperminals
are facing to the right side of the machifNOTE: If double-sided tape is not provided, pleasese 5-minute
epoxy to attach the terminal block to the machine Epoxy provides a stronger bond and is the preferre
method when autopilots are assembled at the factaryFor packaging and shipping concerns, 5-minute epy
is not included with the kit.

ATTACH TERMINAL
_— BLOCK HERE—_

oyl

jiﬁm_
.
H

a5

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

21



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 3: Following the wiring diagram provided lretrear of this manual, connect the labeled ternbioak
locations to the corresponding PLC green termindts the provided 18 AWG wire. Additionally, diswoect the
(2) black 5-wire stitch regulator encoder cablesifithe rear of the PLC and connect them to thegray terminal
block. Make sure to connect the encoder thatcistéal at the rear of the lower carriage to theitealm marked X
and attach the encoder located in front of theiamoain ON/OFF switch to the terminals labeled Y.

CONNECT WIRES
TO RIGHT =IDE OF
TERMINAL ELOCK

[

CONNECT WIRES TO
THE GREEN TERMINALS
ON THE BACK OF THE FLC.

o

ﬂ
)

Step 4: Using the provided nylon ties, secure treraunication cable and 18 AWG wires to the existmgpva
wiring harness. Be sure to route and secure éiefvires so that they do not come in contact ait of the
moving pulleys of belts on the machine.

Step 5: Nylon tie the communication table to tb&dm electronics cover plate. Use at least (B)mties to secure
the cable through the same holes to which the emsathd power cable are attached.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

22



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 6: Secure the communication cable to thekigkastic wire tie mount on the rear of the Innoaariage.
Provide enough slack for the machine to move fraaly completely from the front to the back.

|<)III L

X

F ae.-,_-;_-'

: D NYLDNTIE/““““““aMMMDM_.,E“OH =
HER ¥
NYLOM TIE
HER

Step 7: MAKE A CHOICE:
CABLES LOCATED AT THE REAR OF THE MACHINE: Wire¢ithe communication cable to the power cord.

CABLES LOCATED UNDER THE QUILT AT THE FRONT OF THEIACHINE: Route and wire tie the
communication cable along the inside to the lovegriage rail and the front of the carriage undetimédze Y-axis
motor guard. Make sure the communication cabls do¢rub on the pulleys and belts located atrib& fof the
carriage. Nylon tie the cable to the hole providgethe left side of the motor guard.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

23



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

5.0 Final Assembly

Step 1:.SEE SECTION 6.0 FOR 18" MACHINES. Attach the 52” touchscreen beam to the leftghtrside of the
frame in the location illustrated below. Use (3) ¥2” socket head cap screws, (3) flat washerdp(® washers
and (3) ¥4 t-nuts.

Step 2: Remove the front cover of the pushbuttation and install it onto the touch screen beam.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

24



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 3: Install the touch screen mount and thentgaoeen onto the beam.

Step 4: Install the (2) control box shelf braskesing (2) 5/16 x 2” hex bolts and (2) flat washePosition the
shelf as close to the center leg of the frame asiple.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 25
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 5: Install the transformer brackets ontartaesformer using (4) 8-32 x 1/2” bolts, (4) fleashers and (4)
nylon insert lock nuts. Position the offset hatethe steel brackets as illustrated below.

©

Step 6: Install the transformer onto the contad bhelf using (2) 5/16 x 2-1/4” hex bolts, (4)tfleashers and (2)
nylon insert lock nuts.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 26
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 7: Install the control box onto the shelf bwdte it at far forward as possible. Take careta drop the
control box as cards and components inside maynbedoose and damage may result.

EEEEEEEEEEEEEEEEEEEER]

Step 8: Familiarize yourself with the terminalsdted on the front of the control box. Conneettthnsformer to
the corresponding terminal.

SERVO MOTOR FPOWER
CABLE TERMINAL

N

PUSHBUTTOMN STATION
CABLE TERMINA.

FC COMMUNICATION

TERMINAL—_| N\ _
Vil /
[ [
MAIN POWER
ISOLATION TRANSFORMER
TERMINAL

SERWO ENCODER

INNOVA COMMUNICATION CABLE TERMINAL
CABLE TERMINAL

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 27
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 9: Connect the Innova communication cableta@gushbutton station cable to the control box.

Step 10: Locate the servo motor and encoder cahl@gonnect them to the control box. Route amd tié the
power and encoder cable labeled X to the X-motdrtha cables labeled Y to the Y-motor. Make sarwite tie
the Y-motor cables to the hole provided in the $&fie of the motor guard. Failure to do so willsa strain on the
motor connectors and premature failure of the pargsotor.

Y-MOTOR
LOCATIO

\\\\\\\—X—MDTDR

LOCATION

Step 11: Locate the computer power cord and theoPtitopilot communication cable. Attach the powerd to
the rear of the computer. Attach the USB end efR to Autopilot communication cable to one ofdhailable
USB ports on the rear of the computer. Using #)e(ovided twist lock wire tie mounts, route andentie the PC
cables and pushbutton station cable to the tougeisdeam.

Step 12: Connect the PC to Autopilot communicatiable phone plug end into the control box PC comication
terminal.

Step 13: Confirm that the machine has a free rafg®eotion and is not limited by any cables. Adjtns# length of
or re-route the cables if necessary.

Step 14: Coil up and secure any excess cablingetérame using the provided wire tieNOTE: FAILURE TO
DO SO MAY CAUSE A TRIPPING HAZARD AND/OR MACHINE DA MAGE.

Step 15: Connect the PC and the Autopilot transéorpower cords to an available 110V outlet.

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only. 28
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

6.0 18" Autopilot assembly modifications
SECTION 2.0 MODIFICATIONS FOR 18" ASSEMBLY

Step 4: MOVE THE RIGHT ANGLE BRACKET ON THE LEFT-RXIS BEARING ASSEMBLY FROM THE
LEFT SIDE TO THE RIGHT. Assemble (2) X-axis drigearings assemblies with (2) medium drive pulleyd a
(1) large drive pulley. Make sure to place a key ithe slot of the shaft for each of the pulleisave the pulleys
and bearing assemblies loose on the sb&tNOT TIGHTEN THE SET SCREWS.

OVE ANGLE BRACKET TO RIGHT
SIDE OF BEARING ASSEMBLY

Step 5: Reverse the 5 hole gusset plate on thegide of the frame as illustrated below. Ingtadl X-axis drive
shaft assembly onto the right side of the framéach the bearing assemblies at tHeabd 18' hole, from the back
of the top side tube. Bolt the bearing assembigiisg (2) 5/16 x 2" HEX bolts and (2) flat washershe %" and
15" hole from the bottom up. Additionally, use (216 2-1/2" HEX bolts, (4) flat washers and (2)aylinsert
lock nuts to secure the slotted angle bracketsedube in the'6and 14' hole. NOTE: Install the 2-1/2" bolts with
the head of the bolt on the top side of the frantktae nut on the bottom side.

/‘ H. :..;I h
R

.
fErssyraorarsssranaor 7]+

& Z )
LIP 5 HOLE

GUSSET FORWARD

MOUNT BEARING ASSEMELIES
IN 3TH AMD 13TH HOLE FROM REAR
OF FRAM

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

29



ABM International, Inc. Series: 1018/1026 V2.0
Model: Innova Longarm Quilting Machine Autopilot Assembly Manual

Step 6: Reverse one of the X-axis idler bearingrabties to look like the assembly on the rightia magnified
view. Install the (2) X-axis idler bearing asserablivith guards into thé"snd 13" hole from the rear of the left
side of the frame. Use (2) 5/16 x 2" HEX bolts #Byflat washers. Additionally, use (2) 5/16 x /2“1HEX bolts,
(4) flat washers and (2) nylon insert lock nutseéoure the slotted angle brackets to the tubesitrand 11" hole.
NOTE: Install the 2-1/2” bolts with the head of that on the top side of the frame and the nuthenbiottom side.

] B
/E

OUNT IDLER BEARIMG ASSEMBLIES IM

9TH AND 12TH HOLE FROM REAR OF FRAME.

EE IURE TO REWVEREE FREONT IDLER EEARIMG
ASSEMELY AL ILLUSTRATED WwWITH 90 DEGREE

AMGLE BRACKET OM THE LEFT SIDE OF THE ASSEMEBLY

SECTION 5.0 MODIFICATIONS FOR 18" AUTOPILOT

Step 1: Attach the 52" touchscreen beam to thetefight side of the frame in the location illugtd below. Use
(2) 1-1/2 x 3 spacer blocks, (3) ¥4” x 3-1/2” socketd cap screws, (3) flat washers, (3) lock wastied (3) ¥4” t-
nuts.

INSTALL 1.5° SPACERS BETWEEMN
TOUCHSCREEN BEAM AND FRAME

Proprietary information of ABM INTERNATIONAL, Inc. furnished for customer use only.
No other uses are authorized without the prior written permission of
ABM INTERNATIONAL, INC.

30



PUSH BUTTON BOX
NYLON TIE PLUG CONNECTION
TOGETHER, REMOVE METAL PC
PLUG SCREWS AND DISCARD.

NC. 1
ESTOP O O 1GUS CONNECTOR
4 X 22 734-104 —

FEMALE 4 COND.

: HE === == |3
\v4 AN o
ON oM ot-2 Ct ! m
had GRN O
2N

ECORDING
CONNECTOR
734-308

MALE 8 COND.

NIR0SHONOL DL
v/ n AJLTWWY DL
s 1svTve oL

HE B H
AUTOPLLOT
CONNECTOR
734-112

FEMALE 12 COND.

\ NOTE!
\ \.c WIRE ONLY FOR
| E-CORDING APPLICATIINS
;
/ 2) EXISTING E-CIRDING PLCS MUST BE REPROGRAMMED
TO INNOVA_ECORIC_062010

ORANGE AND HEAVY
JLACK VIRE

iz
@)
T
am

ORANGE AND HEAVY
BLACK S_MN
s / F:...EIMF.-_HI:W ] ABM INTERNATIONAL
ENCODER —L AL O RAS Kiaw Jroeme i AR -
AL AL T FLAE S RO i ELK GROVE VILAGE, IL 60007
-wua!nzm_n.q._ml __-..-M“.. i ME  [NNOVA TO AUTOPILOT CONTROL BOX
UFIESE) CISTIG H8 VELIEN NEKDG 4125 FOR LIGHTNING STITCH

1 2 |[E-PNQ-001C




PUSH BUTTON BOX

0. o
pewHT ] ()
e ©
e e
L] °2
24
e e
v
i 4
Vi s o
o= 4
0 o
X0
e o
X1 5o
X6 (@)
Yad 0%
Y4

A AAARARAARAA

[EPOXY TERMINAL
BLOCK IN PLACE

F=

NC. 1
ESTOP O O IGUS CONNECTOR
4 X 22 734-104
N FEMALE 4 COND.
2 - “EE
_, \_ —— TERMINAL BLOCK
V) N LLABELING
NO.
ON O O 3
Nad GRN
N

IMPORTANT NOTE: WHEN INSTALLING AN
AUTOPILOT ONTO MACHINES WITH THE
NEW STYLE WHEEL BRACKETS, THE X WHT
AND X BLK WIRES MUST BE SWAPPED.
THIS MEANS THE WHITE WIRE MUST GO TO
X BLK AND THE BLACK WIRE MUST GO TO
X WHT. FAILURE TO DO SO WILL CAUSE

INITIALIZTION ERRORS IN THE CONTROL
BOX.

INNOVA

ORANGE AND HEAVY
\ BLACK WIRE

ORANGE AND HEAVY
\ BLACK WIRE

IMPORTANT NOTE: ENCODER CONNECTIONS
MUST BE CONNECTED EXACTLY AS
ILLUSTRATED. CONNECTION IS COLOR AND
AXIS (X OR Y> SPECIFIC.

PLC
Y-AXIS .
ENCODER

X3

ooooo

X4

Y4

CONNECTOR
734-112 2 =
FEMALE 12 COND. 8 W
10
= i +24 G
110 ves
WMWT : oS
= <F_Am
| —
=5 X0
B : s
— X6E6H
Y3

E|I£|E|I'_'II'_'IE|E|E|E|

|E|E|E|L'.|E|E|E|E|E|E||

Y46

ABM INTERNATIONAL

ABM. INTERNATIONAL  Inc.
211 SEEGERS AENVE
ELK GROVE VILLAGE, L 60007

= INNOVA TO AUTOPILOT CONTROL BOX

2 |[E-PNQ-001B




PUSHBUTTUON STATION CONNECTOR
T CONTROL BOX /734-104
FEMALE 4 COND.

-——6.000 _ 144,00
| Mi ol
GRN IGUS CF130.05.04 HeLIGRN
AUTOPILOT TO CONNECTOR
INNOVA PLC CABLE A 734-112
FEMALE 12 COND,
_ 2.00 _ 144,00 nle
3 1 |03
o IGUS CF130,05.12 Heho

ABM INTERNATIONAL




